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Appendix A.--Chemical analyses of water, in parts per millicn and equivalents per million (in parentheses), of well waters from the Nevada Test Site and vicinity, by the U.S. Geological Survey--Continued

Aquifer: A, alluvium; Pzca, Paleozoic carbonate rock; Tv, volcanic rock
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73-58 [|Well J-{Jack- [L4756| &27| TIv | 3-31-62 | 77 60 ]0.13 {0.10 |0.00 14 2.5  |em=--- 6.0 |9.00 119 0 19 8.5 1.2 7.7 .12 | 197 | =16 L5 0 252 | 8.0 2.53%
12 ass ( .70) ( .21) (1.70) |( .15)( .00) [(1.95) |( .00}|( .4o) | ( .25) | ( .06) [ .12)
73-61 |Well J-|--do-- |2166|1,227| Tv | 9-18-57 | 92 67 &l .26 | .00 85 14 .0 157 16 | ----- 102 o L8 2 9 Tk .00 | 892 |31 | 270 {186 | 1,210} 7.8 .16
11 (h.24) |( 1.15) |{( .00) |(6.83) |( .k41) (1.67) |( .00)[10.08) | ( .36) | ( .05) [ .12)
Do-- | --do---|--do-- | 2516{1,%2Cc | Tv | 4-2L-58 | 96 67 .1 .57 | .00 8L 13 f------ 15k 16 §----- 104 0 479 1€ 1.0 5.8 .00 | 882 | =29 | 263 |178 | 1,200 8.0 4.13
(4.19) |( 1.07) (6.70) |( .h1) (1.70) |( .00} (9.97) | ( .51) | ( .05) {( .09)
Do-- | --do---| ~-do-- | 3009|1,z22| Tv |12-16-58 | 96 68 a1 A3 .00 82 13 <.2 14z 15 | ----- 102 0 by B 1.1 8.0 .00 | 83% | zLT | 258 [17% | 1,180 7.6 3.86
(%.09) [( 1.07) |( .00) |(6.22) |( .38) (1.67) |( .00} (9-3u) | ( .51) | ( .66) |( .13)
73-66 | Test Rock Yozh |1,7CC| Iv | 5-30-61 | 72 32 pe-- pF-----|----- i 1.0 14 99 6.4 | ----- 199 |------ 3k - - b 11 26| 3% | 227 37 0 koo | 7.3 | 22.57
well F ( .65){( .08) |( .00) [(k.31) |( .16) (3.26) ( -71) | (.9) | (.02) [( .18) ’
Do-- | --do---f --do-- | 4866[3,L.2C | Pzca| 6-17-62 | 148 31 p--- p-----]----- 68 30 .9 6% 9.6 a1 | 218 [ o 181 11 2.4, 1 .0 .00 | 526 |33k | 293 | 65 5L 1 7:3 1.60
(3.39) [( 2.47) |( .02) [(2.7%) [( .25)] ( .02)| (x.56) |C .c0)| (3.77) | ( .Z1) | ( .13) |( .00)
73-70 |Well 5A{French-| 1837 <c3~| Tv | 4- 4-57 ]| ---- | 58 A 03 | .00 | 3.2 .0 .0 160 B2 1 pemms 346 18 25 12 2.2 4.8 .30 | 456 | k53 8 0 6771 8.6 | 2k.59
man ( .16) | .00) |( .00) |(6.96) [( .16) (5.67) |C .60)1( .52) | ( .z4) | ( .12) ( .08)
Do-- | --do---| --do-- | 215L| :=2.}| Tv | 3-18-57] 71 57 .0 A% | 00 § L8 S5 0 155 o e z2k1 20 25 g. 1.5 4.6 50 | ate [ w5E 6 0 6761 8.8 | 27.48
( .09) I .04 |[( .00) |(6.87) [{ .15) (5.59) [ -67)| ( &58) | ( .= .08) [( .o7)
Do-- | --do---| -==do-- | 2511] 52%| Tv | L-2k-58 | T4 67 .1 .00 | .00 | 1.6 1. <1 165 6.6 | -~--- Z36 26 30 9. 1.8 3.2 L2 | hks | 1376 8 0 6821 8.9 | 25.37
{ .08) [( .08)|( .00){(7.18) |( .17) (5.50) |( .81} ( 62) | ( .25, | ( .09) I .05)
Do-- | --do---| -~do-- | 3066] 2Z3-| Tv | 2- k-59| 73 58 o .08 | .00 | 2.4 O T 158 6.0 | -~--- 3Ll 14 2u .0 4.8 k.6 Ah 1 48 | s&7 6 0 677| 8.6 | 28.04
' ( .12) |( .00) (6.87) |( .15) (5-64) {C 7| ( 50) | ( .23, ] ( .09) |( .OT)
Do-- | --do---| --do-- | 4809 23:| Tv | k-25-62| 74 e 251 .13 | .00 | 1.8 .9 fm----- 163 5.6 .00 | 3ks 16 27 .10 2.0 5.8 .0 Lig | =33 8 0 659| 8.7 | 25.05
( .09)|( .o7) (7.09) | .1)] ( .00)| (5.65) |( .53) ( .56) | ( .21, | ( .11) |( .09)
T4-58 | Test Jack- |5027|%,-x| Tv | 1- 1-63]| 87 57 03] .16 | .24 1 2.4 .10 L6’ 6.6 Ok | 124 0 25 8.4 2.0 5.6 A2l s | 222 45 0 285] 7.0 2.98
well 6 | ass ( .70) | .20)[|( .00)}|(2.00) [( .17) ( .o1)]| (2.03)|( .o0jf ( .52) | ( .2u) | ( .11) |( .09)
TU4-70- | Well French4 1838] Z32| A h- L-57 | ---- | 64 .1 .01 { .00 | 8.0 I.5 .0 9€ 11 | =-==--- 168 5 55 25 .8 11 151 356 | =0 26 0 5011 €.4 8.19
a 5B man ( .20)[( .12)|( .00)|(u.18) | ( .28) (2.75) C .17} (1.1 | ( .72) ) ( .om)i( .18)




